VCE & PDF https://www.pass4itsure.com/i10-002.html
g 2024 Latest passditsure 110-002 PDF and VCE dumps Download

PassditSure.com

110-002954S

XML Master: Professional V2

Pass XML Master 110-002 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/i10-002.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by XML Master
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

110-002 Practice Test | 110-002 Study Guide | 110-002 Braindumps 1/5


https://www.pass4itsure.com/i10-002.html
https://www.pass4itsure.com/i10-002.html
https://www.pass4itsure.com/i10-002.html

VCE & PDF https://www.pass4itsure.com/i10-002.html
a 2024 Latest passditsure 110-002 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

Which of the following is incorrect with respect to XML?

A. An XML document features high data readability

B. An XML document can be transmitted over general-use protocols such as HTTP and SMTP
C. XML is designed with the ideal structure for storage in an RDB (relational database)

D. Some RDBs (relational databases) can output results data in XML format

Correct Answer: C

QUESTION 2

Push the Exhibit Button to load the referenced "XML Document 1" and "XML Document 2," and process XML using
"DOM Processing".

[¥ML Documentl]
<ns:rootl ¥mlns:ns="urn:xmlmaster:EX1M">-

<ns:data ns:info="value">string value</ns:cata>
</ns:rootl>

[ZML Document]
<ns:rooti xmlns:ins="urn:xmlmaster:EZZ"/ >

Select which of the following is the most appropriate expression of the results under XML 1.0. Line feeds and/or indents
are not reflected in the results.

[DOM Processing)
Procezs ZML using the following method.

Dozument output = updateXML | docl, doc2 ):
The wvariable docl kere references the Document instance of the loaded "XML Document 17.
The wvariable docZ2 kere references the Document instance of the loaded "XML Document 27,
The DIM parser is rawmespace aware.
Lasumz no exXecutior errors.

publiz static Document updateXML ! Document docl, Documwent dccZ )
SJtring N3 = "urn:xmlmasster:EX1";
Element data = (Element)docl.getElenentsEyTagNamels (NS, "cata™).itcem(0);

Atre info = data.gethttributeNodelN3 (NS, "infa™):

Atte imported = (Attr)doci.importlode (info, ctrues):
docz.gechocumentE lement () .SecitcribuceNodeNs ([ imported ) ;

recurn docs;
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D.

Correct Answer: C

QUESTION 3

Push the Exhibit Button to load the referenced "XML Document".

[ZML Document]
<ITnfinished =mlns="urn:=zmlmaster: NFINISHED":>
< Item:
<Mlnrkrr wmlina=Turn:xmlmaster MMOREERT
Namme="Jeff Worlmwan"/ />
<hetivity HXmlns="urn:xmlmaster:VISIT"
Code="0002 ">
<DateTime=2004-07-01 13:00</DateTime>
<Jokb Procedure="Install =ir conditionerc™
Time="zZ" >
<Statuss-TAITING</ Statuss>
</ Aotivitys
S =
< Item:-
<Worker =wlns="urn: =wlmaster: TWOEEER"™ Name="Jim
Workee™"/ >
<hctivity HZmlns="urn:xmlmaster:VISIT"
Code="0003 "
<DateTime>2004-07-01 16:00</DatceTime>
<Jobh Procedure="Clean air conditioner'™
Time="z"/>
<3tatuss>TAITING</Status>
<f Aotivitys
</ Itewms
</ Unfinished:

When processing the "XML Document" according to the method shown by "DOM Processing," which of the following is
the most appropriate expression of the results under XML 1.0? Line feeds and/or indents are not reflected in the results.
Assume that the processed XML Document has no indents (ignorable white space such as line feeds, tabs, etc.).
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[DOM Procesing]
Create XML using the following method.
Docurent output = createddL( doc, impl ) :
The swariable doo here references the lUocunment 1hstance of the loaded XML DocudneEnt.
The wvariable impl here references the DONImplementation instance.
The DOM parser is namespace avare.
Azswne no executlon errors.

public static Document createlML (| Document doc, DOMInplementation impl |
String nawe = "Jim Worker™;
Dozument output = impl.createDocument [

"urn:xmlmaster:LIST™, "List"™, null):
Elzment root = output.getlDocumentElement () ;

NodeList nl = doc.getElementsBEyvTaghameNS ("urn: xmlmaster : WOREER"™, "Worker™) :
for (int i = 0; i < nl.getlengthi(); i4+4+) {
Element el = [Element)nl.item(i) :
il (ml.ygeLdailiribivbe [ "Nome™) cegquels (ame) ) F
Element elem = output.createElementMI |
Purn:xmlmaster :LISTH, "WisitcList™):
root.appendChild{output. importiNode1el, true)]):
Elewment 22 = (Element]el.getMNextIiblingi) ;
root.appendChildioutput. importhode 122, true)]:
H
i

recurn output:

A. 2004-07-01 16:00 WAITING

B. 2004-07-01 16:00 WAITING

C. C. 2004-07-01 16:00 WAITING
D. D.D. 2004-07-01 16:00 WAITING

Correct Answer: C

QUESTION 4

Select which of the following correctly describes the message reception processing circumstances when a well-formed
XML document has been sent/ received. [Transmission] Character encoding for the transmitted XML document is
"UTF-16", and no XML declaration has been specified. The media type for transmission is set as "application/xml"
without charset parameter. [Receipt] Implementation follows RFC3023 and XML 1.0. The receiving system first identifies
the media type, and then processes the XML document. At the point that character encoding has been determined, an
XML declaration (including encoding declaration) is appended automatically to the head of the received XML document.

A. The media type identification appends , at which point the XML processorthrows an error when processing the XML
document

B. The media type identification appends , at which point the XML processor throwsan error when processing the XML
document

C. Character encoding is determined by the system locale. Since the XML declaration is appended accordingly, in
certaincases the XML processor will throw an error when processing the XML document

D. The character encoding is identified from the XML Document binary. An XML declaration () is appended accordingly
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Correct Answer: D

QUESTION 5

When processing the following "XML Document" according to the method shown by "DOM Processing," which of the
following correctly describes the output results (print method output)?

[EML Document]
<docr<oontent>Today' s<boldx"hot"</holdrnews</content></doox>

[DOM Processing)
Progess XML using the tollowihg method.
princXML( doc | :
The wariable doc here references the Document instance of the loaded XML Docuwwent.
ILzzure no execution errors=.

publ-c static void printZML | Document doc )

Element content = [(Element)doc.getlocunentElement () ..getFirstChildl()
NodeLi=st nl = content.getChildNodesi) »
System.out.print{ nl.geclengthi)l ):
Elewment bold = [(Element)content.getElensentsByTagare [ "bold™ ) .itemi(0) :
content.removechild| bold ):
System.out.print{ nl.geclengthi) ]:
¥

B. 43

C.42

D. 33

E. 32

F.31

Correct Answer: E
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